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Silviculture & Agro-forestry
(D-792)
{ Maximum Marks : 50

Note : Attempt questions from all Sections as per

istructions.
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Section-A
gus-
(Detailed Answer Type Questions)
(R sl wm)

Answer any (hree questions out of the tollowing five
questions. Each question carries 10 marks. Answer is
. 10x3=30
Frfefed o gt & & 5 & mot & 9e
AR | TEF 99T 10 S W ¥ 1 Regn gt
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required in detail.
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(2) ™~

' Agro-forestry' ? Also write the ™.

1 What do you mean by
| Agro-forestry in India.
importance and scope of A8
? r o He-
“ﬁ—mﬁaﬁ"ﬁaﬂqa«mawﬁ% a3 F
afd & 7ed W@ it g o e
2 Discuss about the agri-si]wiuullure and horti-
silviculture in detail.
Fi-FadEea< i EE-faETET 3 o & fegd
=0 & guie HI |
3. Describe wind breaks, Give the advantages and
suitable tress for wind breaks.
a@ﬁaﬂﬁﬂi-ﬁaﬁmw@aﬂ%ﬁmm&qﬁ
S g T8 A AR
4. Explain in deiail about the selection criteria to select
the crop species for Agro-forestry.
Fiy-afe % fg Had Tyl E O S B
R g MRS @ AR § TR |
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(3)

Describe the importance of eucalyptus trees.

Hafrd & VSt & mew 1 aof AT

Section-B
Gus-q
(Short Answer Type Questions)

(7 Sl %)

Answer any fwo questions oat of the following three
questions. Each question carries 3 marks. Short

answer is required. 32510

Frefeiead a9 wet 3 Fl @ w3 3w
AR 1 SAF G997 5 SFH A R 1w I sk
B

Explain the role of lopping in Agro-forestry 2

iﬁﬁ—ﬂﬁﬁﬁ?ﬂ@fﬂﬁ?#*jﬁﬁﬂmﬁﬁml

7. Give the different causes of d. forestations,

8. Describe the influence of tree

N & e B Rt et @ St

a1 crop production,
3 % AW IR O e A IR |
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. Loy,
n N
(Very bh[};*rg Answer Type Questions)

(e g e )

.

Answer all the Jfive parts of the following question.

Each part carries

required.

2 marks. Very short answer 1s

2x5=10

FefifEd w99 3 &l o e & gae i
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(1)

(i)

(ii1)

(iv)

(v)

Define Reley Cropping.

et sreg & wfrarfss =
Shelter belts,

MY e

Shifting cultivation

Seed dispersal

CIE R ECTH

Mulching,

qefdr |
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